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Atomic Energy Central School # 4, Rawatbhata 

MCQ Test          Date : 04.11.2019 

Name of the student : ______________ Class-III  Sec. ________ Roll No. ____________________________ 

_______________________________________________________________________________________ 

 

1. The opposite of quiet is ___________ 

 a. loud   b. fast   c. silent  d. slow 

2. The meaning of  ‘dawn’ is _________  

 a. evening   b. night  c. afternoon   d. the early morning 

3. Fill in the blanks.    “ Tramp , Tramp , Tramp,” goes their ___________  

 a. clap   b. shoes  c. song   d. talk  

4.  Circle the correct spelling. 

 a. passeengers           b. pessengars  c. pissengers  d. passengers 

5. The plural of child is ________ 

 a. children  b. childs  c. childrens   d. childran 

6.  The vegetable man was selling__________ 

 a. pencil  b. cabbage  c. chocolate  d. burger 

7. Steamer is a __________transport. 

 a. land   b. water  c. air   d. None of these 

8. Circle the odd one. 

 a. train   b. car   c. aeroplane  d. truck  

9. The word that do not rhymes with mail is _________ 

 a. sail   b. fail   c. feel   d. tail 

10.  ‘ Through day and darkness’ 

      ‘ Darkness ‘ in the above line refers to 

 a. a tunnel  b . night  c. a bridge  d. mail  

11. ‘Up ‘ is to  down as ‘Dusk’  is to _________ 

 a. sleep  b. night  c. dawn  d. play  

12.  _________is asking the road to wake up. 

 a. crow   b. children  d. flowers  e. cat  

13. Trains carry _____________ 

 a. goods  b. passengers  c. mail   d. all of these 

14.____________wake up first in the morning. 

 a. road   b. children  c. birds   d. vegetable man 

15. The big hills are called __________ 

 a. plains  b. mountains  c. rivers  d. road   
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16. सेठ का �लगं बदलने पर �या होगा ? 
 a. रानी        b. महारानी      c. सेठानी   d. नौकरानी 

17. गलत �लखे “ �सर�मान ” श�द का सह  !प �या होगा ? 
 a. �स"रमान     b. �शर मान     c. #ष"रमान   d. %ीमान  

18. “ कचहर� “ श�द का सह  अथ) �या होगा ? 
 a. *कूल    b. मदैान          c. अदालत     d. म-ंालय 

19. दोन/ 0बि2लय/ के बीच झगड़ ेक6 जड़ �या थी ? 
 a. रोट     b.   तरबजू     c. 9ेड     d. फल  

20. लेह के लोग एक दसूरे से �मलने पर �या कहत ेह? ? 
 a. हैलो     b.   नम*त े  c. चरण*पश)    d. जूले 

21. Aकस चीज के पकने क6 महक अBछD लगती है ? 
 a. फूल      b.   पेEोल      c. अचारपराँठा   d. इ- 

22. Hमाल पर पIथर Aकसने बाँधा था ?  
 a. अवLती ने    b.   पहलवान ने   c. आNLती ने   d. सेठ ने  

23. मगंलवार के बाद कौनसा वार आता है ? 
 a. सोमवार     b.   शPनवार     c. शRुवार   d. बधुवार 

24. बTुUह न का #वलोम श�द �या होगा ? 
 a. ईमानदार     b.   अ�लह न    c. बTुUमान     d. मखू) 

25. एक सXताह मY Aकतने Tदन होत ेह? ? 
 a. सात       b.   दस        c.  आठ       d. छह 

26. रंगाई क6 दकुान Aकसक6 थी ? 
 a. अवLती क6   b.   पहलवान क6  c. आफंती क6    d. इनमे से कोई नह  ं

27. ईZया) के सह  अथ) पर Pनशान लगाओ | 
 a. कलाई      b.   तार फ़       c. जलन      d. ऊँची 

28. ‘बदंर-बाँट’ पाठ के लेखक कौन ह? ? 
 a. आर एस 0-पाठD      b. ह"रवशंराय बBचन      

 c. �शवYb पांcडया     d. इनमY से कोई नह  ं

29. अवLती क6 dशसंा कौन करता था ? 
 a. गाँववासी     b.   सेठ          c. आफंती     d. पहलवान 

30. तरबजू को Aकस चीज़ से नापा तोला जाता है ? 
 a. ल टर से      b.   मीटर से     c. बाट-तराजू से d. सेर से  
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31. For which of these you need a bigger bag? 

 a) 1kg sugar   b) 1 kg jaggery  c) 1kg groundnut  d) 1kg salt  

32. Which is heavier? 

 a) 1 tomato   b) 1 pumpkin   c) 1 banana   d) 1 grape 

33. The weight of child at the time of birth is  

 a) 9 kg    b) 12 kg   c) 3 kg    d) 17 kg 

34. We put ___ salt in a curry. 

 a) 1 teaspoon  b) 5 teaspoon   c) 1kg    d) 5 kg 

35. Which of these things is weighing less than half kg? 

 a) fan    b) school bag   c) pencil box   d) wooden chair 

36. Which of these things are weighing more than one kg? 

 a) 2 tables   b) 2 pillows   c) 2 razors   d) 2 pencils 

37. 1 kilogram = ___ grams. 

 a) 10 grams   b) 1000 grams  c) 500 grams   d) 250 grams 

38. ¼ kilograms = __ grams. 

 a) 250 grams  b) 500 grams   c) 750 grams   d) 1000 grams 

39. 2800 grams = ___. 

 a) 2 kilo 800grams  b) 2800 cms   c) 2800 points   d) 2800 kg 

40. What is heavier than mango? 

 a) a ruler   b) a cutter   c) a watermelon d) an apple 

41. How many 10 kg weights are needed to measure 30 kg rice? 

 a) 3    b) 5    c) 2    d) 1 

42. 2000 grams = 

 a) 20 grams   b) 2 kg    c) 2000 kgs   d) 20 kg 

43. Which of these things are heavier? 

 a) school bag/pencil box    b) wooden chair/plastic chair 

 c) duster/chalk     d) maths book/drawing book 

44. Which of these have more weight? 

 a) 10 kg   b) 50 kg   c) 20 kg   d) 100 kg 

45. Which of these living things are heavier? 

 a) an elephant  b) an ant   c) a dog   d) a rat 
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46.  Braille script is written on a______ paper. 

 A ) thin   B) thick  C) soft    d) none of the above 

47.   Braille script is written on a thick paper by making a row of raised ________ . 

 A) points  B) lines   C) triangles  D) squares 

48.  ________ first thought about Braille script . 

 A) Richard grey B) Louis Braille  C) William brown D) Shane  dowson 

49.   Braille script is read by running the _____________ on the raised dots. 

 A) hair   B) nails   C) toes   D) fingers 

50.  Braille script is based on ___________ dots. 

 A)  2   B) 3   C) 6   D) 10 

51.  Braille script is written on a thick paper by making a row of raised points with a  ______________ tool. 

 A) flat   B) round  C) pointed  D) none of the above 

52.  ______ bhaiya reads special type of books written in Braille script . 

 A) Mehul  B) Ravi   C) Chhotu  D) Venu 

53. Ravi bhaiya reads special type of books written in Braille script because he cannot  ___________. 

 A) Run   B) See   C) hear   D) taste 

54. Ravi bhaiya came to know so many things by ________. 

 A) hearing  B) walking  C)seeing  D)running 
 

55.  Braille script is read by running the  fingers on the  ________  dots. 

 A) yellow  B) black  C) raised  D) colourful 
 

56. Ravi bhaiya teaches in a _________. 

 A)  church    B)  school  C)  college  D)  hospital 

57. Ravi bhaiya cannot ________. 

 A) hear   B) see   C) feel   D) walk  

58. Louis Braille belonged to __________. 

 A) England  B) India  C) France  D) China 

59.  Person who can not see is called __________. 

 A) Blind  B) deaf   C) dumb  D) none of the above 

60. Ravi bhaiya _________ to tapes. 

 A)  watches  B) touches  C) listens  D) none of the above 
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Answer Key 

 

1.  a.  loud   

2.  d.  the early morning 

3.  b.  shoes 

4.   d.  passengers 

5.  a.  children   

6.   b.  cabbage 

7.  b.  water   

8.  c.  aeroplane  

9.  c.  feel    

10.   b .  night  

11.  c. dawn   

12.   a. crow     

13.  d.  all of these 

14. c. birds  

15.  b.  mountains   

16.  c.  सेठानी   

17.  d.  %ीमान  

18.  c.  अदालत     

19.  a.  रोट      

20.  d.  जूले 

21.  c.  अचारपराँठा   

22.  c.  आफंती ने   

23.  d.  बधुवार 

24.  c.  बुTUमान     

25.  a.  सात      

26.  a.  अवLती क6    

27.  c.  जलन      

28.  b.  ह"रवंशराय बBचन      

29.  a.  गाँववासी      

30.  c.  बाट-तराज ूसे   
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31.  c)  1kg groundnut  

32.  b)  1 pumpkin   

33.  c)  3 kg    

34.  a)  1 teaspoon   

35.  c) pencil box  

36.  a)  2 tables   

37.  b)  1000 grams  

38.  a)  250 grams   

39.  a)  2 kilo 800grams   

40.  c)  a watermelon 

41.  a)  3    

42.  b)  2 kg    

43.  b)  wooden chair/plastic chair 

44.  d)  100 kg 

45. a)  an elephant   

46.   B)  thick   

47.    A)  points  

48.   B)  Louis Braille   

49.    D) fingers 

50.   C)  6   

51.   C)  pointed  

52.   B)  Ravi   

53.  B)  See  

54.  A)  hearing 
 

55.   C)  raised 
 

56.  C)  college  

57.  B)  see   

58. C)  France  

59.   A)  Blind  

60.   C)  listens 

 


